5
a(d cot(d))

o(0 @) (rad)
S

107
1074

0

0953 10 1 2 3 093 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)
—=— DQM_V0001_R000000001__Global__mkFit10000__RECO

—e— DQM_V0001_R000000001__Global__mkFit1000__RECO
—— DQM_V0001_R000000001__Global__mkFit1000ATime__RECO

= £
) P S G
2 e
-~ Y [ e -
< -
g o
o 10 =
©
)

1072 1072k

b : .
: : : 2
i i i I
LML &

]
3
[vd
%3 T 0 1 2 3 3
TP n (PCA to beamline) TP n (PCA to beamline)
~ 1
2
D_)—
o
<]

,_.
<
L

0 T 2 3
TP n (PCA to beamline)



	Contents
	Page 1


